Schimidt
R3
R3
X Y;
n X=|"2| y=|”
X, Yn
[X,YT=XY, + Xy, ++ Xy, [X,Y] X Y
1
2 X Y [X,Y]=XTY
3

4 [X XIEX+X2 4+ X

23

Schimidt



1 [X Y=Y X]
2 [AX,Y]=A[X,Y]

3 [X+Z Y]=[X Y]+H[Z Y]

IX[=IXYT=x2 +x2+.4x2 |X| n X

1 [x|z0  [x]=o
2 AeR, [ =|2x]
3 X+ <[x]+]v]
4 X =[x
5 a,p " Bl < - |
[X[=1 X v |v[=o0
Y
M
[X,Y]
Y0 |X||#0 0 = arccos
I¥l=0[X] X[V
n X Y [X,Y]=0 X Y
n o,a, A,
[e;,a;]=0, i#] i j=12---r o,a, -,
1
2
3 X Y X Y

23



a, o, A, a,,o, oV
A, 0y A, a,o, oV
1 £,6,-& R"
2 e,e, e V \% a  e,e,---e
a=[a,ele +[a,e,]e, +-[a,e]e
1 1
_| V2 _| V2| R _[2
S W ““la
V2 V2
1 1
1 3 1 2 | 3|v2| (2
[0 el=—1r. [ae]=—1x  a=—+r T+ V=
T T NN IR
V2 V2
Schimidt
n B Be B BBy By
1 -1
a,=|-2|, a,=|0 a,a, [e,,,]=1#0
1 2
a,,a,
a;,0, -0, n \% o,,0, -,
B By By
Schimidt
al,az...ar

23



a:“az...a

b=
8, —a, _[ﬁl,afzzlﬂl

A
By =a, - [ﬂvazs]ﬂl B [ﬂzvazs]ﬂz

3. |12.1
ﬂr :ar _[ﬂl’azr]ﬂl_[ﬂwazr]ﬂz _“._[ﬂr—l’azr]ﬂr_l

A 1.1 184l

BBy By BBy B o aya,
BBy P BBy P
e1: ﬁl , e2 — ,Bz ’___,er — ﬂr elxez' er
12 8. 1.1
n A ATA=E A
1 A A At =AT
2 2 A Al=+1 |ATAIE AT |-|AlH AP=|E|=1
3 A B AB
4 A
A n R"
P y = Px

y= P =57y =P = = ]
4] [yl =[]

23



AX — AX = (A—AE)X =0

(ay, —A)X +a,X, +---+a,X, =0

1n*n

ayX, +(ay, —A)X, +---+a,,X, =0

2n*n

a X, +a.,X, +---+(a,, —4)x, =0

a, -4 a, a,
a| B A 8
a.nl a,, a,, — A
a, -4 a, in
fay=| > %= 4 =0
a, a,, a,, —A4
f(1)=0 A n
Ay Ay A, A
n A Ay
Ay Ay A, A
1 LA, A=A IA=0 < A

2 L+A,++ A, =q,+a,+--+a

nn

3 n A AT
| AT — AE || A— AE " 5| A— AE |

23

X
X A
n
|A|]= 0
A
n A Ay Ay
A, 1=12.

(A-JE)T = A" - JE



4 n A=(ay), Zn:|aij|<1 i=12,-,n A
-1

Xy + 1, X, A

5 6 X, X, Xy A y)
Moo Hy - fg R MKy + py Xy 4o pg X
7 A Xy, X, X,
S Ay Ay A Xy, X, X
8 A A
9 2 A A A p(2) ¢ A

¢ A =a,+ail+a,l’+--+a A", p(A)=a,E+aA+--+a, A"

10 A 1 A
A
1 n A
all /1 alZ 1n
f (ﬂ,) — a‘21 a22 ) /1 2n
ay a, Ay, — A
f(4)=0 A A, A, s

23



A

i=12,---5

(a, —A4)X +a,X, +---+a,X, =0

1n*n

ayX, + (@, —A4)X, +---+a,,Xx, =0

2n"*n

Ay X +a X, +-+ (ann - ﬂi )Xn =0

A Ay Ay A A, i=12,--5
X
A, =125
X A4 i=12s
A =125
1 A B n P
P'AP=B
B A A B A~B
A P'AP A
) A B n P
PTAP=B
A B
A B =A B
A~A EAE =A
A~B B-A P p (PH*'=P
P'AP=B (P7)"BP"=A B~A

A~B B-~C A~C
A~B A B

|B—AE | P*AP - JE || P*AP—P*AEP | P |-| A— AE || P |=

23



=|A-JE| A B
A~B  |Al=[B|

BI=| PAP [ P [-| Al-| P Al

A~B  R(A)=R(B)

A-B A B A B A'~B*
5 |A=[B| A S|ARE0 A B
B = (P’lAP)’1 =PtAlP Al~B?
A
12
n A A= Ay Ay Ay
ﬂ“n
ﬂ“l
m mp-1 /12
A~B A" =PB"P B A=
ﬂ“n
A
ﬂm
Am — P 2 P—l
A
A
n A A
A
n A P PTAP = A
A
A & A on
A n A
A <o (A-ALE)X =0

23



)
O]

@)

(4)

Ay

23

J.

A m : n (A-4LE)X =0
m
P PLAP = A A A n
A X
A (A—AE)X =0
A A m (A-JE)X =0
m.
A A m (A-JAE)X =0
m A
n A T T7?PAT=J
A1
1
J, = RS
A1
‘]l
J= I
‘]S
i=12,---,5 J



10

310 010
0 3 1|, [0 0 14,
0 0 3 0 0O
A
a, -4
a
f(ﬂ,): 21
anl
f(1)=0 Ay A
A,0=12,---s
Ss=n ,A n
P=(X1X, X, )
A
A
PTAP = ?
ﬂ“n
Schimidt
I:)11|:’21'“F)n
A
PTAP=PTAP =
s<n A A m
m A
23

1 1 0000
01 00O00O0
004000
000 210
0 000 21
0 000 O0 2

a12 1n
azz_l 2n

anZ ann_ﬂ“

S

(A-AE)X =0

X Xy X, A

P
X, A,i=12,--
X, Xy X,
P=(RP--P) P
/12
ﬂ“n
(A—ALE)X =0

n X, Xy, X




11

P PLAP = . 4
ﬂ’n
s<n A A m (A-4E)X =0
m A
n
F (X Xg X)) = DX X, X, Xy pee X,
i<j
a, a, - q, X
A= a.lZ a.zz a.2n X= X.z
a1n a2n ann Xn
f=XTAX
1 A R(A)=r f =XTAX
2
f=Ayl + 4y, ++ A4y,
1 RA=r 2 r<n 3 4, #0 i=12--r
f=XTAX X#0 f=X"TAX >0
f =XTAX A X#0 f=X"AX <0
f =XTAX A
° n
n n
® A n
A n

23



a, a;, - 4,
a a a a - d
a11>0, 11 12 >0, - .12 '22 '2n >0
d, Ay : oo
a'1n a2n a'nn
a;,; ap
a 1 8 Qg a a
a, <0, | % P[>0, la, a, ay/<0, (-)[Z Z
d, ay : :
13 23 33
a;, Ay
r=212,---n
A 1 Ay Agse e A, n
Xl’XZ Xn Xl,XZ Xn
X X X
PR=r P=r 5 P=r P:(Pl P - Pn)
X x| X
2 2 2
=4y +A4Y, ++4Y,
X=PY
A n A
Schimidt

=(p, P, - P)

f =AY + A,y ++ Ay} r<n

X=PY

X X i =Yi=Yi» X5=YitY;

Yi



1 f (X[, Xy, Xg) = X2 = 4X, X, + 2%, Xg + X5 + 2X, Xy — 2%,

C

f (X, Xy, Xg) = (X2 = 4%, X, + 2%, X5 ) + 2X, X + X5 — 2X2 =
- 2 2 2 _
=(X; —2X, + X3)° —3X; +6X,X; —3X; =

= (Xl _2X2 + Xa)z _3(X2 - X3)2

Y, =X, —2X, + X, X, 1 2 1Yy,
Y, =X, — X, = X, =0 1 1]y,
Y =X, X3 0 0 1)y,
f(Xl,XZ,Xg) = y12 —3)’22
1 21 1 21
c= |0 11 c=(0 1 1
0 01 0 01
2 f (X, Xy, X3) = X X, + X X5 —3X, X,
X =Y,-Y, X, 1 -1 0Yvy,
X,=Y.tY, = X, =1 1 0]y,
Xg =Y, X, 0 0 1)y,

f (X0 X, Xg) = Vi — Y2 —2Y,Y5 +4Y,Y,
Ys Y,
f (X0 Xy, Xg) = (V= Y3)? = V5 — V5 +4X, %, =

= (Y, - yz)2 — (Y, _2y3)+3y§

L=Y1—Y, Y1 10 1
2,=Y,-2y; =|Y,|=0 1 -2
Z; =Y, Y3 00 1

13 23



2 2 2
f (X, X,,X3)=12; —z, +312,

1 -1 0Y1 0 -1Y)z 1 1 3Ygz
X111 1 00 1 -2|z,|=/0 -1 -1|z,|=Cz
0 0 1)0 0 1)z 0 0 3z
3
f (X, Xy, Xg) = X7+ 2X, X, + 2%, X5 + X, X5 + 2XZ + X]
11 1
A
A-l1 2 2 [j
E
12 1
1 100 100
2 11 1 011
(Aj— 1C2_Cl 110 P 010
E 1 0 0[C3—-C|1 -1 —-1|—-rl1 -1 -1
10 01 0
0 01 0 1 0 0 1
10 0 1
01 0 0 1
01 -1 0 0 -1 1 -1 0
Co—Cy|  -ooer L BN 0 c=|0 1 -1 X=CY
1 -10 1 -1 0 0 0 1
0 1 -1 0 1 -1
0 0 1 0 o0 1
10 0
f(X,%,,%)=X"AX =(CY)"ACY =Y (CTAC)Y =Y'|0 1 0 |¥=
0 0 -1
= Y4y Vs
A
E
A A

14 23



1 f =XTAX
2 f =XTAX
3

2 2 2

f:/llyl + A, Yot + A4,
2 2 2

f=x7 +K,2;, ++K,Z

§TS

r=s A, A4 K,k K

Xo = (X, %o, Xy) FOG X000 %)

fll(XO) le(XO) fln(xo)
fo(Xe) Tp(xg) - f(X)
H(x,) = 12: 0 22: 0 | 2 : 0 fij(XO)
fln (XO) on(XO) fnn (XO)
X X X, = (X7, %2,---x?) i,j=12,---n
H(x,) f(X, X0 X)) X = (X0, X2, X) n Hess
H (%)  H(x) k K=12,---n
1 H(x,) H, (%) >0k =120 F(x,)
2 H(x,) (-D*[H, (%) > 0,k =1,2,---n f(X,)
3 H (%) f(X,)

15 23



16

f(x,y,2)=x>+3xy+3xz+3yz+y* +7°

f, =3x*+3y+32=0

f, =3y’ +3x+32=0 P(0,00), P,(-2-2,-2)
f =32 +2x+2y=0
fo=6x f, =3 f, =3

Xz

f,=3 f,=6y f,=3

yz

f,=3 f,=3 f,=

03 3 ~12 3 3
H(P)=|3 0 3| H(P)=| 3 -12 3
330 3 3 -12

H,(P)=0 H(P) 000

|H,(P,)[=-12<0, |H,(P,)|=135>0, [H,(P,)|=-1350<0 H(P,)

f(-2,-2,-2) =12

1 -1 1
A=[1 3 -1
11 1
A
-2 -1 1
A-ZE|=| 1 3-12 -1|=2-51+81-4 =0
1 1 1-2

P52 +81-4=(A-D(F -44+4)=(1-1)(1-2)°

A A=l A, =4=2
A =1 (A-AE)X =0
0 -1 1}Yx 0
(A-JE)X =11 2 -1|x,|=|0 A
1 1 0 )\x 0

23



0 -1 1 0 -1 1 0 0 O -1
1 2 -1|-»|0 1 -1|—-|0 -1 1 P =
1 1 0 1 1 0 1 1 0

P A =1 kP, 4 =1
A=Ay =2 (A-AE)X =0
-1 -1 1 -1 -11 1 0
1 1 -1|->|0 0 O P,=|0P,=|1
1 1 1 0 0 O 1 1
P, P, A,=4=2 k,P, +k,P, A, =4, =2
A yl
-1 2 2 12
2 -1 -220
A=l 2 -2 -1 1 4
0 0 0 1 3
0O 0 0 22
A
-1 2 2 i1 2
2 -1 -2 : 2
a2 72 -1 P14 (AA
e e b L0 A,
0 0 O 1
0 0 O 2
A —AE, A,
A A—JE,| = =|A - AE,|-|A, — AE,| =0
T N E N I
A —2E;|=0 A L=-5 A,=4=1
A, —E,|=0 A, A, =4, A, =-1
A L=-5 A, =A=1 A =4 A=-1

17 23



X, Xy, X

n A Ay A
1 kA
2 A"
k) A Al
4 A A
5 P PAP
6 f(X)=coX" +¢, X" +--+C,  X+C,,

f(A)=c,A" +¢, A" +---+c, ,A+C,E

7 A
1 AX, =4, X,(i=12,---n), (kA)X, =k(AX,) = (k4,)X,
kA, kA, kA4, Xy, Xy X,
2 AX, =AX, i=12,-n A"X, = LA™X, == ATX,
A" A A5 AT Xy, Xy X,
3 AX; =4X, i=12,n A N=22,-2, #0
4, #0  i=12,-n Alxiz/lixi A
4 A" =|A-A" 1 3 A HH H
A A n
Xy, Xy, X,

18 23



19

AX, = A X,

(PEAPJPIX, = P24 X, = 4, (PX,)

PEX,,PX,, -, PX

1 2 f(4), F(4,) F(4,)
X11X21"'Xn
AT - AE| =| (A= 2E)" |=|A- AE] AT Ay A
1 2 11
X =|k A=[1 2 1 A* k
1 11 2
A
2-21 1 1
A-2E|=| 1 2-12 1 |=-(1-1)(2-4)
1 1 2-2
A A=2,=L2=4 X A" A
AX =X  AX =4X k=-2, k=1
3 A A =-14,=11,=3
1 1 3
X, =|-1], X,=[-1|, X,=|1 Y=|-2
0 1 -1 0
Y X, X, X,
A"Y n

1 Y =k X, +K, X, +k; X,

k,+k, =3
—K, —K, +k; =2
k,—k, =0

23

i=12,--n AX, = APPIX; = 4, X, p

PAP A Ay A,

n



1 1 0 3 11 0 3 10 1 3 100 2
A=|-1 -1 1 -2|>|0 0 1 1|>|0 1 0 1|0 1 0 1
0 1 -1 0 01 -10 01 -10 0011
k,=2, k,=1, k,=1 Y =2X, + X, + X,
2 AX, = A X, i=123 A"Y = A"(2X, + X, + X,) =
2(-)" +1
=2A X, + A"X, + X, =20 X, + 5 X, + A4 X, =] 2(-1)" +3" -1
1-3"
1 1 0
P:(Xl X, X3)= -1 -11
0 1 -1
-1 00 <D)" 0 0
PIAP={0 1 0 A"=P| 0 1" o0|P*
0 0 3 0o 0 3
<)" 0 0 2(-1)" +1
AY=P| 0 1 Py = | 2(-)™ +3" -1
0o 0 3 1-3"
3 A 1 -1 2 B =A%®-5A?
1 |B| 2 |A-5E]
1 A A B=A>-5A> B A5 -5
B —4, -6, -12. IB|=— 288
2 A 1 -1 2
A= 2E|=(1-A)A+1)1-2) A=5 A

|A-5E|=(1-5)5+1)5-2)=-72

20 23



21

2 2 2
f (X, Xy, X5) = 6X; +3X; +6X5 +4X, X, +8X,X; +4X,X,

f(A)=] 2 3-1 2 |[=(A1-2%*(1-11)=0
4 2 6-1
A=1,=2, A;=11
1
=1, =2 (A-ZE)X =0 G=[-2] &
0
1 1
Schimidt & =-2]| &=
0 -1
1
0 -5
2
A, =11 (A-JE)X =0 & =1
2
2
Pszé 1 P:(P1P2P3)
2

f (X, X, X3 = 2y7 +2y5 +11y?

3

f (X, Xy, X;) = 6% +3X5 +6X5 +4X,X, +8X, Xy +4X,X; =
1 2 7 4 10
=6(X, 3% +§x3)2 +§x§ F XX+ =

23

X=PY



1 2 7 2
=6(X, +§x2 +§x3)2 +§(x2 +7x3)2 +

1 2
y1:X1+§X2+§X3
2
y2:X2+7X3
Ys =X
6 2 4
2 3 2
A 4 2 6
= —
E 1 0O
010
0 0 1
0 0
L
3
03w
7, 2T
3 21
1 2
7
0 O 1
2112
3 21
X = —EY
7
0 O 1

22

23

f(Xl,XZ,Xg) = 6y1 +

0
’
3

4 2
3

-

3
1
0 0
0
’
3
0
1
3
1
0 0

2,
1 12
X1:Y1_§y2+z)’3
2
X2:y2_7y3
X3 =Y;
Ty .22
3y2 7y3
0 6 0 0
2 g I 2
3 3 3
L B PR
3 |— 3 3 |-
2 1 2
_‘ 1 = _%£
3 3 3
-2 0 1 0
1 0 O 1
0
0
@
21
12
21
2
7
1

7 66
f(X, X, X3) =6y, +—y, +—V,

3 21



23

23



